JUNIOR SCIENTIFIC OFFICER IN TAMIL NADU FORENSIC SCIENCES
SUBORDINATE SERVICE - 23/07/2023

1. Match correctly the articles of the Indian Constitution with their corresponding
constitutional doctrines:

A. Article 13 1. Doctrine of Territorial nexus
B. Article 31 2. Doctrine of Pith and Substance
C. Article 245 3. Doctrine of Eclipse and severability
D. Article 246 4. Doctrine of Eminent Domain
A B C D
a. 1 3 4 2
b. 3 1 2 4
C. 3 4 1 2
d. 2 4 3 1

e. Answer not known
OhHW DIFWeOMWUILF FLL ST SDSHSTEID FJHHIHM6T  DIUBBISITET  SIFFLIe0MLOLIL|S
G um’_BLet GLUT(hSHSHIH:

A. FiLo Ofey 13 1. o fo ugiifevewias Gsm UT®h
B. siL0 ufley 31 2. 2 Us@m BoIb Sl GurmeT gwm Camum®
C. gLl Ufley 245 3. @eLemBliy wBpid UfuBd SHertenwds Gamlumip
D. sl Afley 246 4. Gangospuyflenws Camump
A B C D
a 1 3 4 2
b 3 1 2 4
c 3 4 1 2
d 2 4 3 1

e. allewL G flwalsvenso

2. Consider the following statements, and choose the incorrect answer:

A. The president is a constituent part of parliament.

B. He may sit (or) participate in the discussion in either of the two houses.

C. The president cannot promulgate ordinance having the same effort and effect on the
law passed by the parliament.

D. When both the houses of parliament are not in session, the president can
promulgate ordinance.

a. (b) and (c) only b. (c) and (d) only c. (a) and (c) only

d. (a) and (d) only e. Answer not known

SDHHENIL  FnBBISHEN6NDH HHBHAD, HEUBTET FnBBIHMETH HEWIL155:

A. BUYWIsH SHEMEVEUT UTITEHLOGTBSHSHE @T DIBIBLD SLEITT.

B. oput @yewi(h LMITEHOEHB SieDeudHaTeld SIOTeOTD (&) aleuTeHdHded LIMIOEHESHS60TLD.

C. umymenpoapd GuBmpid FULmseT Gume wwBd BB aiFdfled GHUITaH HENeVa(HLD
SIUFT FLLBIG6T UMD (PIQUITSI.
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APPE® LI
D. umnepwamsHHear QreniG  SmeusEpd  SiTalled @eveuTsH CGUTISH GHQWTSH  HEn6VET
Sleugy FULLLD SWBB (LPIQUITSI.
a. (b) wmmib (c) L BLb b. (c) wmmid (d) i @G
C. (@) wBEIb (C) WL BIb d. (@) wmmd (d) w’ G
e. allewL G fluwalsvenso

Which of the following statements are true about the two houses of Parliament?

(1) The two houses of Parliament enjoy equal rights except financial matters.

(2) A Money Bill cannot be introduced in Rajya Sabha.

(3) Rajya Sabha may discuss the Annual Financial statement but it has not power to
vote the Demand for grants.

a. (1) only b. (1) and (2) only c. (2) and (3) only

d. (1), (2) and (3) e. Answer not known

gilwmenr  ugleney BHTHOHBEBWD :  BILTEHLGIBSHHE EH Dieweudbeiad  Lleeu(hLd

FBBIH6T60 61FH 2 euTento?

(1) unpmEBLEBHHET BH Smeusaiend Bg aleusmmae Hal] DMNTHH SHMBH6TVID
g0 OIHSMID BBID FI0 (SHSHe0H) 2 Mend HEDILIe&SEI6IBET.

(2) grow suteied uew WEFTHTMeY SIN(WSILGSHS (PIQUITSH.

3) Trow  Fumelled eUBLMHET HHBewev SfibamaEmw  alleuTHEBHEOTD.  SUEMT6L  LDTETL
Camidmaseaied TSNS DIHBTID E606N6V.

a. (1) wL @ b. (1) wBmw (2) W G c. (2) wBmId (3) WL HW
d. (1), 2) wBmw (3) e. alewL  GaMwaisbensy

Match the following:

International Conventions Year

A. Convention on the Rights of child 1.1984

B. Declaration on the Rights to Development 2.1979

C. Convention on the Elimination all forms 3. 1986

of discrimination against women
D. Convention against Torture cruel, inhuman Treatment 4. 1989
A B C D

a. 1 2 3 4
b. 4 3 2 1
C. 4 2 3 1
d. 3 2 1 4

e. Answer not known
SLDSHSHEWIL UBeDBLI  CILIT(HEHHIH:

gTauCshg LoMHTH S1601(H

A. BYbmsHH6T o MenoseT BT LOTHTH 1. 1984

B. Guibum’ B o flewwo 1Bsmer 1LIysLeunbd 2. 1979

C. QuemTsEhHE GIFHTTRT 616060  AISHLOT6DT

UTGUTHSmeT QLSS LOMHT{H 3. 1986

D. fsarauams, QamHeno, wellsd SHeaenowBnl

BLSHBHIH60 BWUBMISG 61HTTet LOTHTH 4. 1989
A B C D

a. 1 2 3 4

b. 4 3 2 1

C. 4 2 3 1

d 3 2 1 4

e. allewL G flwalsvenso
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5. Assertion (A): Right to Information is necessary to empower the people in India.
Reason (R): Reduces scope of corruption in Public Administration.

[A] is true but [R] is false

Both [A] and [R] are true; and [R] is the correct explanation is [A].

[A] is false, [R] is true

Both [A] and [R] are true; but [R] is not the correct explanation of [A].

Answer not known

ammol [Al: BhHWTaled 1DHH6T HHBTMD OUBIISBGHSH HHad Pujd 2 Menio

Sjeudlub.

smyewid [R]: QU BITeUT e & &60 26T|PED QFUIGUSHBEHT6T FTSHH WIS
&DPBSSBSI.

a. [A] sfwnengy [R] seupreng.

b. [A] wBmibd [R] eydwenen silwmerenen [R] eyeigy [A] afer gflwmer elendasiongib.

c. [A] seamrerg, [R] sflwmerg

d. [A] o [R] e ByewiGn shwreemsy, spemmeo [R], [A] sflwmer alendéaiosven

e. alowL  GgMwalsvenso

o g

6. Assertion [A]: Indian Constitution is a rationally deliberated moral document.
Reason [R]: Indian Constituent Assemble was a site where different interest
groups debated for a negotiated settlement.

[A] is true but [R] is false

[A] is false, [R] is true

Both [A] and [R] are true; and [R] is the correct explanation is [A].

Both [A] and [R] are true; but [R] is not the correct explanation of [A].

. Answer not known

&By [A]l:  uGSHIHaL ST  elamHssIUrL  @T  @UOBIEG (B SpeueniG  Bihdul
SITFWevemLILF FULLD SGLD.

smyewid [R]: webGouml &HSSHIMLW GHUSHD6T amigdh HevbdHl laUTHSHDHIH SRIBEHSGH6T @T
PUUHHHmSH 6l gl LB @bHHu SFFluied SemILEF FeLWTGLD.

o ap o

a. [A] e _ewienin; spemmed [R] seum

b. [A] seum; syemed [R] 2 ewienio

c. [A] wppid [R] @yewiGGw &M; oisa e [R] aaiug [A] elBster gflwmer alendasaomgLb.
d. [A] wimpibd [R] 8yewiGGuo aM; eyemed [R] eteniug [A] eliamer gfuimer allenbsiorsrg.

e. allewL G flwalsvenso

7. Which of the following Articles given below provide for a council of ministers to aid
and advice the Governor of a state?
a. Article 160 b. Articles 162 c. Articles 163
d. Article 164 e. Answer not known
&8 srewiiuBl a&FF LU ufley LTHSHHET DLEHHHHE UHSTI L LBBID SBleyen] gnn
T SimWFFTmeUds G CoHemeu 61yl FnBIdleBgI?
a. Ll ey 160 b. gL 1fley 162 c. glLd ey 163
d. #lL0 dfey 164 e. allenL  Gafwealsvenso

8. Which of the following is in-correctly paired:
(1) Right to Information Act - 2005
(2) Freedom of Information Act - 2002.
(3) Official Secret Act - 1920
(1) and (2) only b. (1) and (3) only c. (2) only
(3) only e. Answer not known

a.
d.
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SDIHAUBTUBDBICT 6151/ 6Tenal HAUBTHLT QUTHSHSILL BeiTenend GQUITIHHSI:

(1) 6L oPfub o Mewwd & Lb - 2005

(2) 6L QUEBID &HFSHHAHTD - 2002

3) oels GreflwF FULID - 1920

a. (1) wBmb (2) duwier ol G b. (1) wBmd (3) Sydwer L HD
c. (1) ' @ d. 3) w’ @G

e. allewL G flwalsvenso

9. Match the following:
A. C. Rangarajan 1. 13th Finance Commission
B. N.K. Singh 2. 14th Finance Commission
C.Dr. Y.V. Reddy 3. 15th Finance Commission
D. Dr. Vijay L. Kelkar 4. 12t Finance Commission

A

4

4

1

1

e. Answer not known

QUT(HSHIS:

A. C. prisyTeget

B. N.K. &lmi

C.Dr.Y.V. Qplip

D. Dr. aimui L. Gsevssi

A B C

a 4 2 1

b. 4 3 2

C. 1 2 3

d 4

e.

an oo
WM WO
B~ WN R A
N B R WY

13 augl BpFs GW
14 augl pFs SW
15 augl PpFs GW
12 gl Pgé Gw

5~ NG

N = =T

1 3
alewL  OFflwealsdenev

10.  As per the 2011 census, the Sex Ration in India was

a. 927 b. 972 c. 940 d. 964 e. Answer not known

2011 10&F6T OFHTend HewIHSHL 96Ty, @bFHwraler LTeler aildsb

a. 927 b. 972 c. 940 d. 964 e. alenL  Gafuailsvensy
11.  National Food Security Act was introduced in the year

a. 2012 b. 2013 c. 2014 d. 2015 e. Answer not known

2 ewie] UTHISTUILF FULID OsmewiGeuriiul L Lewi®h

a. 2012 b. 2013 c. 2014 d. 2015 e. alenL  GaMuwealevemev

12.  Economic development will be sustainable only if it is pursued in a manner which

protects
a. The Energy b. The Agriculture c. The Employment
d. The Environment e. Answer not known

QuTmEMTHTT  eueT&FS BlgHdHl HeveownanHTd @HbH CouewiBLOTRITED 6leNHSH OHTLAHH —
&5 Cuent GeuswiBLd

a. SBMBeL b. eleugmunb c. Gouemev eumUILIL]

d. sBBIFEDo e. alew  Gxfuwiailevensy

4|Page APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187  http://www.appolosupport.com/




13.

14.

15.

16.

17.

18.

APPE> L0
STUDY CENTRE
CHENNAI

The industrial policy resolution 1956 was adopted in order to achieve the aim of
a. Capitalism b. Socialism c. Mixed Economy

d. All of the above e. Answer not known
1956 S0 WG OFTPed OFmeliensdd  SHTOMHID  6HhFH BDVHMB DML USHBHTH
SIDOLBGSHSLILL L HI?

a. (PpFHeoTeriSHaiald b. #wszieud C. oL QUT(HENTSHTTLD
d. GuBamplu SIMTISHHID e. alenL  Gafweaisvensv

C. Rangarajan Committee has fixed the poverty line as

a. Rs. 25 for rural and Rs. 50 for urban per day

b. Rs. 30 for rural and Rs. 60 for urban per day

c. Rs.32 for rural and Rs. 47 for urban per day

d. None

e. Answer not known

C. Grmaymrmenr  slegst @hHwmelesr  gewd Caml(Bohstar  Senalml  @eleuTml
OEJCEEARQIRIEN

a. ep.25 Sgmo .50 BATIYFD b. ep. 30 Hgmod p. 60 BHTIYFLD
C.eh. 32 &ymod ¢h. 47 BBTIYTD d. ezl Bevensv

e. allewL  Ggfwalsvenso

Hydrocarbon vision 2030 is associated with

a. Madhya Pradesh b. Maharashtra ¢. South India
d. North East India e. Answer not known

2030 emauBl Gramiue CeTenevlETeEd o L6l ST TLmL WG

a. wsHHw GsHad b. wamyreadl gw C. Oxpear @pbaHwm
d. e Swpse BhHwr e. allenL  Gafweaisvensv

Integrated Child Development Services (ICDS) targeted at children upto the age of ___

years.
a. b years b. 6 years c. 7 years

d. 10 year e. Answer not known

RUHRIBmenHhH GHLHmSHH6eT Buburl BF Czemeuser (ICDS) _ suenguleoner @ Lbendsemer
BB THS OBTEHIL F.

a. 5 seuwgl b. 6 euwgl c. 7 euwigl

d. 10 euwg) e. alenL  Gafuweaisvensy

The term “Missing Women” phenomenon occurs due to

a. Perference for a son/male child b. Inadequate data

c. Women trafficking d. Early marriage of girl child
e. Answer not known

“Guewt Bt @O’ 6Tl GFTELEOTL S 2 (HeUTeUSHBEGHSH SHTTEMTLOTE  FLD6D

a. LDHET IGLVH LW HLPHMSHHSHTeT al(HLILILD

b. Gurgioren Hya| Gevenev

C. OQuewIse6T &L &HH6e0

d. Quewr Gobmsuie Spieuuig H(HLemTD

e. alenL Gaflwealedenso

Choose the wrong matches type:
Which of the following is incorrectly paired?
1. NBCFDC - National Backward Classes Finance and Development Council
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19.

20.

21.

2. OBCS - Other Backward Classes

3. NCBC - National Committee for Backward classes

4. SCDC - Scheduled caste Development Corporation

a. 1 and 2 are correct b.1 and 3 are correct c. 3 and 4 are correct
d. 2 and 3 are correct e. Answer not known

FHaupner GUTHSHHHmHH CHTHOBHBHHS.
SpHBTENILIIBBI6L 6Temer HeumTaLll GUITHbHlueiTernet?

1. NBCFDC - CarAwlr UBLGSSLILLCLAT HF LBEID eueTTEFHdhE (D
2. OBCS - Up IBuUGSSILL L eugLifeo

3. NCBC - UBUGSSILLBLimdsTen CHFuIs G

4. SCDC - STPSSHIULCLIT euenTFHS SHIPBHID

a. 1 wmpb 2 Filwmerenel b. 1 wipb 3 gflwreiene
C.3 wmmib 4 Filwmeiene d. 2 wBmid 3 Flwneaenel
e. allewL  Gafwaisvenso

Arrange the schemes chronologically:

1. Cradle Baby scheme

2. Tamil Nadu Mid day meal programme

3. Muthu Lakshmi (Reddy) Maternity Benefit scheme

4. Tamil Nadu Integrated Nutrition Programme

a.2,4,3,1 b.4,2,3,1 c.3,421
d.3,4,1,2 e. Answer not known

S LBIBM6NDH BHTevalflenglILg SIMOHSD.

1. GaTliged GWhmss SHIL LD

2. SOIPHTH g 2 _amie|dh SHILLLD

3. WwoHaIteol & (Gllye) wsliGumIs FH LD

4. FOPHTH QMHBRISMMIHS 26 | FFHBHISH HILL LD

a.2,4,3,1 b.4,2,3,1 c.3,421
d.3,4,1,2 e. alenL  OaMuweailsvemev

Which is/are true of the following?

(i) In 2005 the World Bank approved the Tamil Nadu Health System Project.
(i)  The total cost of the project is Rs. 597.15 crores.

(iii) The involvement of World Bank in extremely advantageous

a. (i) and (ii) only b. (i) and (iii) only c. (i) only

d. (i), (ii) and (iii) e. Answer not known

SLPHTEILIIBMIGT 61%H 2 6wiend WTH? DIV6VH 61606 2 6IenLOUIT6Ten6 ?

(i) 2005 @60 2 0k auhd SOWHTH HETHTT D] HLEHHBG @liLHeelSHHs.
(i) @I LsHa Qrds CFeve COFHTens dh. 597.15 Gsmig

(iii) e oo aumSUIST FHUTH DIFBeNTe| LIWEDIOTENSTS 2 66N,

a. (i) wBpIb (ii) wL G b. (i) wBEIb (iii) WL B

c. (i) L (B d. (i), (ii) mpibd (iii) SiemeTSHSHID
e. allewL G flwalsvenso

Match the following:

Movement Reformers

A. Brahmo Samaj 1. Natesan

B. SNDP 2. E.V. Ramaswamy

C. Justice Party 3. Sri Narayana Guru

D. Self Respect Movement 4. Raja Ram Mohan Roy
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22.

23.

24.

A B C D

a 2 3 1 4

b 4 3 1 2

C 4 1 2 3

d 2 3 4 1

e. Answer not known

QUTHSHHIS.

[OIIEX:AD FTHmHHUTH)

A. Qg Fworey 1. BGLger

B. SNDP 2. F.Q6u. [gmDFTLH

C. posbaL d 3. 1§ BIJTWeENT &(H

D. swoflumens @wdsd 4. gmegm gmbd Gomsenymul
A B C D

a 2 3 1 4

b. 4 3 1 2

C. 4 1 2 3

d 2 3 4 1

e. allewL  Gafwalsvenso

Revolutionary movement mainly focuses on

a. Adoption of new models b. Adoption existing model

c. Reverse the current trends d. Adoption cultural model

e. Answer not known

UL &S] QUSEHD (WoHESWIDTEHS SHeUalD 0FashsHIaId

a. yglweuemauiens gBmIb0Bmeidlampgi 19. [HEDL (LPEBENLI  GJBBIH0O\BT6ITS B

C. ydhw pevmedwl HbULl SieiliLspg ol &eonFamy ongflenws egBpIsCETaTSBS
e. allewL G flweailsbenso

Choose the right answer among type:

Which of the following statements are true about M.S.A Rao?

(i) He was the prominent Indian sociologists

(i) He point out, social movements includes two characteristics are collective action
and oriented towards social change.

(iii) He started a social reform movement called the “Non-Brahmin movement”.

a. (i) only b. (i) and (iii) only c. (i) and (ii) only

d. (ii) and (iii) only e. Answer not known

gflwreteuBenms CaThOSHBHBMLD.

Spseni Fapupiseieo M.S.A. gret uppw slwnereuBenss CHTHOHBHBMLD.

(i) Baut HmevF ABhd DHHU FepBNUIGOTET

(ii) Fps BUISHEIBET GO LNILGM6T 2 6o Sdlemal, @6y, dnl BGF OFweour®
LBOBTAIB Fepsd WLIBBHIBEG MPCLBUBSHSHILIMa 6T6rd GBS

(iii) “Dgmoewyeoeon@apit  QuIGs” @B FpssF  FMHBHS < BUHED  Beugmed

(G133 Qs ¥ M Y
a. (i) wL@Bw b. (i) wmmid (iii) L BLb c. (1) B (ii) LG
d. (ii) b (iii) L GEw e. alewL Qpfwaisoenso

Choose the correct statements:

Tamil Nadu Higher education Assurance scheme 2022 provides:
(i) Financial assistance to the girls

(i)  Financial assistance to the boys and girls
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25.

26.

27.

28.

(iii)  Financial assistance to the third gender
(iv)  Financial assistance to the parents
a. (i) and (iv) b. (ii) and (iv) c. (i) only
d. (ii) only e. Answer not known
gilwmer opldmaamwd CHiTa] CFUIs.
SOPHTH 2 wiseval 2 mHsH SHLb 2022 auPRIGaH :
(i) LOTETaNBEHHEG B 2 Hai
(il)  wmewreuT wIEANWLHESG BHHULHal
1)  pemrd UTellenSHeuTHEndES BH&LSHal
(iv)  GuBBpidse Bawsel

a. (i) wmspb (iv) b. (ii) wmmid (iv) c. (i) L @B

d. (ii) w’@w e. alewL QFfwaisiensv

In India E-Governance was started in _____ state.

a. New Delhi b. Kerala c. Tamil Nadu

d. Karnataka e. Answer not known

et oiepens (E-Governance) @pglwimaisd OTHleVSHH 60 OHTLBISLILILL .
a. sl &Heved b. Gayenm c. O BIG

d. siprasr e. alew OxMNwealsoensv

Who translated the book, “Thirunelveli Charithiram” into English?

a. Rhenius Iyer b. Ellis Durai c. Caldwell

d. Ziegenblag e. Answer not known

‘A HOBeLGaeIF FRGHHTID’ eTeTeDID BHTEHEL DYBIBEVSHH 60 GLOTHLICOUWITSSH6UT WTT?
a. ®Gyefujerd i b. er60ederd ey C. &MeoBHGleaI6eD

d. faer UTELE uIT e. alew  Gxfualsdensy

Which of the following statements are true about Kattabomman?

i) Jackson agreed to meet Kattabomman at Ramalinga Vilas in Ramanathapuram.

ii) ~ Kattabomman was hanged by the British

iii) He was defeated at Kalakkadu Battle

iv) He was a brother of Velu Nachiyar
v

—~~

—_~ A~

a. (iv) only correct b. (i) and (iii) are correct c. (iii) and (iv) are correct
d. (i) and (ii) are correct e. Answer not known
SPSHBTRILIM6USH6MED HL L GUMbLosne] LBplul HHeie0sm6iMe0 eTemeu  Ffluimeteneu?

oTHFT  QITOHTSHTHH60 o 6ifenn  @rmoeimis  afleordled &L L QUTIDIOMET  FhHdHd
BNFHSITT.

ii) &l LOumbweT QU HSGeWITETEL HTdaeIL LILL LT
1 e sendar®h Gumfled CpmBaslgdbsliL LT

~—~
—
~"

N SN N
PR
ey
~— —

v @it CougnprsFAwimfler F@HTHIT SLeumT

a. (iv) wi G & b. (ii) wmmid (iii) &M c. (iii) oppid (iv) &l

d. (i) wBpib (ii) & e. aflewL  Osflwalsdensv

Who was the founder of Kanchi Mahila Parishad in Kanjeepuram?

a. Dr. Muthulakshmi b. Smt. Parvati Devi c. Smt. Rukmani Devi
d. Smt. Valliammal e. Answer not known

&1ehd walenm uflagdhwsd STehdTHHe0 Himelweu wmT?

a. LI&LIT. (1pSHHI0e0L & b. #mwd urireud) BxHal C. FHmwd mHowenl BxHal
d. &g aueiefuibiomelt e. alenL  GaMuiaisvemev
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29.

30.

31.

32.

Which of the following is not related to Palani conspiracy?

(i) Rebels decided to attack Coimbatore

(i)  Colonel K. Macalister Launched an offensive attack

(iii) Khan-i-Jah Khan took the command of horses

(iv)  The cavalry of Rani Lakshmibai took part in Palani conspiracy
a. (iv) only b. (i) and (ii) only c. (ii) only
d. (ii) and (iii) only e. Answer not known

SsTemiLeuBmIeT Uwel FHWMGsorgeneGur® OHTLTLls0eoT BHD6| 6157

(i) Uyl fwmeniaer CamuIbLSHTNT HThd HTOT6 HHTT.

(ii) aiteatew K. 10&606r0LT GUITTLILDL & HTHGHHM60EH OHTL M 6T

(iii) orear-B-QTABSTE GSOILILDLEESH SIS SHTHIE I

(iv) upel sdwnBersmenuisd Fmewdl eol SOLTUNET GHOIL UL LEEG GCUBBSI.
a. (iv) wL@Ew b. (i) @i (ii) ' Bib c. (ii) WL (Bw

d. (ii) i @w (iii) w G e. el Ozfwalsdensv

—

Choose the right answer:

Which of the following statements is true about the trade activities of ancient
Tamilagam?

(i) Kaveri Pumpattinam was also known as Anuradhapuram

(i)  There were two kinds of markets such as Allangadi and Nallangadi

(iii)  Yavanars had trade contracts with ancient Tamils

a. (i) only b. (ii) and (iii) only c. (i) and (ii) only

d. (i) and (iii) only e. Answer not known

gflwnenr alewLenwd BHTCHBEHS.

UemienL Ul &mevd HLTHefler euemid (OHTLTY BLogHmS) LB LUeteumd Fnmpsled e1g
©_GUTENLOULITETENGM ?

(i) STl DU 196D, DIEITTHUTID 6TTBID SIEDIOSBLILIL LS.

(ii) S0 SIRIGMY DBWILD [HT6T DBIBTY GTHIH BT DD FhHewd S(HhdH QlbHH

(iil) uprsTeL HOWTSCMTH WeUMTH6T cualed OHTLTL OQEHTEmIQHHBHEIT.

a. (i) w @ b. (ii) wmBb (iii) L G c. (i) wmmib (ii) ' Bib

d. (i) wBpib (iii) wL Bw e. alewL  Ozfwalsbensv

Which literature describes Pasumpoon Pandiyan, the Sanga King to have had white
flags flying on his Elephants?

a. Agananooru b. Purananooru c. Kalithogai

d. Paripaadal e. Answer not known

RGBTV  LOGHGIGITE LIGLDLL6mT  LTewiguwledien Winenenseien Goed GeusiTenensd G&mg UBbHSH
aeIB OFUIHemUId B HITeDL?

a. SIBBHTONHI b. UBBTEMEI C. 360505TNS®

d. uflum_ed e. alewL GxfNualsdensy

Which of the following books was not written by Viramamunivar?

a. Thirukavalur Kalambakam b. Satyaveda Keerthanai
c. Annai Alungal Anthaathi d. Adaikkala Maalai

e. Answer not known

Ledteu(meuaTeuBmIeT aiJom(pefeuT 61(pSHTH [HIT6L 6157

a. F(HBHSTOUITT &HEVLDLIGLD b. #saw Gouspd SHTHHem6
C. SN D|(LPMIBED DIHSHTE d. 9mLdse0 DTEM6V

e. allewL  Ggflualsvenso
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33.

34.

35.

36.

37.

38.

39.

If morality rules the household; what are the benefits of such an household?

a. Wealth b. Makkatperu c. Fame
d. Competition e. Answer not known

“LOMIGBEVLD 6T60TLI  LOGMEUILDTL & LOBmI SIH6I [HeiIHeVD” — 6157

a. GFeveuld b. wéasl Gum C. Ul
d. Gumig e. alenL  GaMuwalevemnev

What kind of knowledge can be learnt from ‘Sirupanjamoolam’?

a. Knowledge of Maths b. Knowledge of Science

c. Knowledge of Medicine d. Knowledge of Astronomy
e. Answer not known

‘FmIuehFelpeold’ 616iIB BTGV cLPeVLD 6TeleUemBWITeT Sipfleweull QLB (pIQud?

a. salls ey b. 9flailwied ey C. DHHSI DPfe]
d. auremalwied infey e. alewL OgMwalsdensv

What constitutes Integrity? What are the constitutes of “Vaimai Kudikku uriyana”?
a. laughter, charity, good words not condemning
b. Truth, veracity, lie, calmness

c. Hospitality, humility, self-respect, pride

d. Learnedness, duty, help, friendship

e. Answer not known

‘auTuienind  GHlgdh@ o Muier eTeneu?

DD, FNH, BI0FT6D, EBLOTENLD

© _euienld, eUTUIenLD, GLITUIGMLD, HeiTenLD
allmpHGHTDUED, Lewfley, LOTEID, OLIHENLD
FTGIBTENTeND, SO, © Hai, Bl L]

allewL  OFflweailedensv

canoe

Who is called as “Madhanubangi”?

a. Thirumoolar b. Thirunavukkarasar c. Thirugnanasambandar
d. Thiruvalluvar e. Answer not known

‘LOTHT@ILMRIS — 616D DIDLSBLILIBLIGUT WITT?

a. Hmesort b. Hmmralbsyt C. FH(HEHTRNFDLHSBIT

d. Smeusitempeui e. alenL  GaMuweailsvemev

Who said “ Annaium Pithavum Munari Theivam”?

a. Avvaiyaar b. Athi Veerarama Pandiar c. Ulaganathar
d. Bharathiar e. Answer not known

“leTemadTd LIBTeD (eitennl QHUIeUDd” 6T6eiTml Fnpsluleu Wit

a. QETEMEULITT b. eydeiygmo urewiguIT C. 2 _6UBBISHT
d. umgguwimr e. allenL  Gafweaisvensv

The province of Mohammed Bin Tughlaq’'s empire in the valley of the Tapti river was

a. Daulatabad b. Khandesh c. Kashmir
d. Nanderbar e. Answer not known

Bl mnslent Gosd DIWLDHSHIGTEN (LPHIDGI LN6T HI6eNHHI6 61hG LOTSHT6u0ILD?
a. HAUNTHUTS b. &rewiBLay C. BTOYIST

d. mhsmTUmT e. alewL Gz fuwailsdensv

Which one of the statement is incorrect regarding Samudragupta?
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40.

41.

(i) He was the third ruler of the Gupta dynasty

(i)  His territory extended from Himalayas to river Narmada
(iii) He assumed the title of Maharajadhiraja

(iv) He printed six different types of coins.

a. (i), (iv) only b. (i), (iii) only c. (i), (i) only
d. (i), (ii), (iii) only e. Answer not known
SpEHEWIL FnBBIS6Te0 FWHHT GUSMIL UBSIL LS HeumTer FnBml 6137

(i) Gl CuITdled FUPSHTGUIST PSTBTUSH D AWITENT SLEUTT.

(il AaumeLw S F UGH GIWbmeL (PHe0 BT aued] UFalulmboHal.
(iii) GeuT waTITRTSH JTEYT GTEB UL Hmd QUBNHHSTT.

(iv) ST oum ST HTERILRIGEMET DIFFIQHH Geueiuil LT

a. (i), (iv) L @b b. (i), (iii) wLGW c. (i), (i) wL(@Bw
d. (i), (ii), (iii) @G0 e. aflewL  Ozfwalsdanev

Question are of matching type question select the correct answer from the codes given
below:

List - I List - II
A. Samudragupta 1. Paharpur Copper Plate
B. Chandragupta II 2. Eran Stone Pillar
C. Buddhagupta 3. Udayagiri Caves
D. Skandagupta 4. Junagarh Rock
A B C D
a. 3 2 1 4
b. 2 3 1 4
C. 3 1 2 4
d. 2 1 4 3

e. Answer not known

CaTHSSUILLIQHSSD DI L auenanien! CUT(HHHIS.
SIL_L6uenesr — I SILLeuenewr — 11

A. spSIHTSGLST . usmryT O&liny UL wib

1
B. gpglyeust 11 2. TG B0 SHITGNT
C. yssGLUsT 3. 2 swdfl Gos
D. evaphs@lst 4. 2PeITHT LITEND
A B C D
a. 3 2 1 4
b. 2 3 1 4
C. 3 1 2 4
d. 2 1 4 3

e. alenL Gaflweailedenso

‘Incase of the Indian national congress party were put into power in 1946, the result
would be the declaration of complete independence by Bengal and the setting up of a
parallel government’. Who said this?

a. Mohammad Ali Jinnah b. Maulana Abul Kalam Azad

¢. Suhrawardy d. Liaquat Alikhan

e. Answer not known

1946 o @bHw Capdlw smmSFed sSLFAUID DH@TID SILLGELWTET SiH6T almerey
QURIBTENSHH60  LTewr  SFFHHAHTD opflaliiug  wLGUSS  @T  Senewimel  OIFFTHISLD
SIMSSLILBLD 66Tl WTT Fnpsluig?

a. (Ip&HGl 160 236iT60rT b. GuoemeoTedtm SiLEL HEVTID LFTH
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42.

43.

44.

C. HOBIOITH d. wras oedsme
e. allewL G flwalsvenso

The Social reformer who represented a synthesis of the thought of East and West
a. Rajaram Mohan Roy b. Swami Vivekananda

c. Dayananda Saraswathi d. Sir Syed Ahmed Khan

e. Answer not known

@w[j}?@ BB HPSEHHHU  HHIHUS HEOLML IHSHHMIHS BDhIHW Fepd FTHHGHHUTH
wImir?

a. @yregmymbd Guomesest Ul b. seumfl elGeusTebsT
C. HWUMbHSH FJgieud) d. g1 mFwLG SIBIOH SHT6T
e. allewL G flwalsvenso

Which of the following statement about Ayothidasa panditar true?
i) He founded Adi Dravida Mahajana Shabha

He established Sakya Buddhist Society

He joined servants of untouchables society

N SN N
(SR

e e
—e
~—

(iv) He published ‘One Paise Tamilan” News Paper

a. (i) and (ii) b. (i) and (iv) c. (i) and (iv)
d. (iii) and (iv) e. Answer not known

abheHd FmBUIBeT DCLTHHHTF UemigST UBIEF gFfluimerg?

(i) ST HATTAIL 0BT FEDLIGHUI 2 (TH6UT S GOTTT

(i) ot ‘Fradlw QUTEHS Fepsld’ 63 DIEMDLIENL 2 ([HeUTEE eIt
(iil) oeuT S HEHTCHMT 2emPUIT FRIBHSH0 GFHSHTT

(iv) ot ‘@ eusT FWlpe eep CFuIFsH SHremer Oeueuil L.
a. (i) b (ii) b. (i) LB (iv) c. (ii) wpmid (iv)
d. (iii) wbmpd (iv) e. aflewL Gsflwaisdenev

It was at this state that the communalists declared that Muslims ‘Muslim culture” and

Islam and Hindus, ‘Hindu culture’” and Hinduism were in danger of being suppressed

and exterminated. It was also at this stage that both the Muslim and Hindu

Communalists put forward the theory that Muslims and Hindu constituted separate

nations whose mutual antagonism was permanent and irresolvable. The Muslim

League and the Hindu Mahasabha after 1937 and the Rashtriya Swayamsevak Sangh

(RSS) increasingly veered towards exteme or Fascistic communalists.

Which one of the following is best implied in the passage.

a. Separate nations for Hindus and Muslims were felt

b. The Muslim League; Hindu Mahasabha and the Rashtriya Swayamsevak Sangh
were responsible for the extreme communalism

c. Communalists of both groups suspected each other for the development of
communism

d. People of both religions realized that country and national welfare were greater than
religion.

e. Answer not known

b BleneouleOSTar  (LpervedlbseT  BXDID  (ervesld  &euT&FEMD, @haIsbseT @b LG

LBBID BbHSH SHOTFSTID @BSSUIULEH DWPSSUIUGBLD HUTWSHSHE0 SBHLILSTES  UGLILeUTHSH6N

ofalgsHeair. (peveSld  WBEBID @& uGLUaTHSeT  @heurhd  ugeroLy  alGyrsiome,

BIhHSIOTET BB HThd (PRUITEH SHalddHal Cohamsamen SemwshHerT olaip Camlum el

Obs BLLHFHE ST6l (paimaudbselr. 1937 &@LU Lng (pevelld 656, @b Lo&TEuT LBHID

gredl Ml  eeuwid Gzeusds FmHBD  (SYT.elerd.6l60) iFlwewer  Haly  evevgd  UTHF

AUGLILTHHMmS Chres QBB (WenBuled STuIHoHer.
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45.

46.

47.

48.

49.

50.

Lettau(heusteuBplied 61g LSHHUTed Fplunssd @GUINILOUGSBE?

a. OhIHISBEHEHGLD, (PerVLHEHHGHID Hell BCHFMmIB6T 2 6wl L 6l

b. (peredid 656, @bl waT Fum WBDID Jradl Mul eeuwid BFeaud Fhsld SpFuimel LTHF
UGLUATSHIBE STTeIONS E(HHHE.

C. BB GUWdselal GLLUTHSEHD SDuLaNFshHar  UaTFFSSTE @ HeUemTOILTHEUT
FHCH B H 60T

d. wasmz ol BTG, BTG B Guiwug eaiLmed Bh WHHHDIHD 2 ElThHIHET.

e. alowL Gafweilsdenso

Which tribal uprising is known as “Ulgulan’?

a. Santhal Rebellion b. Kol Uprising c. Munda Rebellion
d. Sanyasi Rebellion e. Answer not known

abPL LpmIGUler wohsefler SenTeddl ‘@ so@eomer eem SISWiLGSBE?

a. ghored denrsd) b. Gamevmeier denirgd] C. (pewiLm &enit&e
d. gpBplurd denrgd e. alewL OGxflwailsdensv

The British Cabinet Mission was headed by in the year 1946.

a. Sir Stafford Cripps b. A.V. Alexandar c. Clement Attlee
d. Pethick Lawrence e. Answer not known

194610 e LT I9ad Sienw&FsTensl GalB& _ eaileuT Hemevenlo@uiBmT.

a. . eoLm@ui b. A.\V. 90e0sFThHsiT c. Slemet i 6l
d. Qudé evmyesierd e. aleowL  Oafwalsbensv

Name the youngest person, who was elected as the president of the Indian National
congress in 19237
a. Motilal Nehru b. Abul Kalam Azad c. Lala Lajpat Rai

d. M. M. Malaviya e. Answer not known

1923-@60 Qend auwiFled, QbW BHFw s HmevauITessh CaHTHOHBHBLILILL  BLIfler
Cuwenyd GBIUIGS.

a. Gurdleored Cm(m b. @ieoEemDd SIS C. 6UT6UT 6URLIG [mTul

d. enb.erb. wmeneilwim e. alenL  Gafuwaisvensv

The traffic lights at three different road junctions change after every 40 seconds, 60
seconds and 72 seconds respectively. If they changed simultaneously together at 8 a.m.
at what time will they simultaneously change together again?

a.840am b.9.06am c.806am d.86am e. Answer not known

ey CuUTEGUTSHSH FhFHlseied o eten Opflged ealend@sen @elGeuTamid (WewmGus 40
alpmysefley, 60 alpTgseied, 72 ealbmgselsd efTdlammer. SiGONTHSHT  DIMETSHHID
HTeM60 8 LewSh@ Q&IBTE QefThHer 6lefled LWIGL ieweu 61IGUTH aTBTE @erfl(Hb?
a.840am b.9.06am c.806am d.86am e sl Oxfwalsienso

A tank can hold 50 litres of water. At present only 30% of the tank is filled. How many
litres of water is required to fill 50% of the tank

a. 5 ltr b. 10 Itr c. 15 Itr d. 25 Itr e. Answer not known

QH HewieniTd OFHT puller Gsmeremene 50 I LTHeT @D SBOUTH DIHe0 30cp FHewTewotT
BirbLweitengl eialled, oiFled 50% Hewiewim Hevpwl OSE@ID 6IHHMeT 601 LTHeT Gheneu?
a.5 adlLm b. 10 &9 LT c.15 edlLm

d. 25 &L e. aleowL  Oafwalsbensv

IfA—>1,B—>2C—>3....Z2->26
H.CFof (I, X) : LCM. of (C,P) =?
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51.

52.

53.

54.

55.

56.

A—->1,B—>2,C->3... Z — 26

a.16:1 b.3:2 c.1:16 d.2:3 e. Answer not known
oT&dl OIS  CBTERILT6D

B.0ureu. (I, X) : 8w (C,P) =?

a.16:1 b.3:2 c.1:16 d.2:3 e. alewL  Ogfwalsbensv
Find the 21st term of an A.P 2, 3%, 5, 6%, .....

a. 32 b. 30v2 c. 28 d. 31% e. Answer not known
2,3%,5,6Y, ....a68B gl (B QOHTLT euflengule 21 eugl 2 W] STeWIS.

a. 32 b. 307 c.28 d. 31% e. alenL  Gafweaisvensv

Find the sum of first 28 terms of an Arithmetic progression (A.P) whose nt" term is 4n -
3.

a. 1045 b. 1054 c. 1450 d. 1540 e. Answer not known

R L BHOHTLT auflenguler O-eugk o mily 4n - 3 aeafled SIBHET (WHO 28 2 BILIL|SHerT6H
Fn(HFH60 HTEWI5.

a. 1045 b. 1054 c. 1450 d. 1540 e. alewL Oz fwalsbensv

The temperature at 12 noon at certain place was 18° above zero. If it decreases at the
rate of 3° per hour at what time it would be 12° below zero?

a. 12 mid night b. 12 noon c.10a.m

d.10 p.m e. Answer not known

bewiLEed 12 wenfld@ @b BLsHHar Oeulupeme Lmmuisbmsgd ol 18°C ofsb ou@lb.
Geutiupleney ewid@ 3°C aipld GHMBHIHTEL 6HHmer WwanldHE lalallGHHler  Geulipemeo
umSwsbmas el 12°C Gopeauns @)(mdb@ED?

a. 12 meitefyey b. 12 mewiLise0 c.10. @.u.

d.10 Y.u e. alenL  GaMuwiailsvemev

If a mirror is placed below the word HIDE, what word will you see?

a. HdIH b. HIAE c. HIDE d. EDIH e. Answer not known

HIDE eei3  Gamedelest SDULGHUTD Sigenl  edaudHdHTe0 HenL @G CFTevellssl  allgalld
wrg?

a. HATH b. HIAE ¢ HIDE d. EDIH e sl Gafuaisomes

A and B under take to do a piece of work for Rs. 1200. A alone can do it in 8 days, while
B can do it in 6 days. With the help of C, they complete it in 3 days. Find C’s share?
a.Rs.150  b.Rs. 100 c. Rs. 450 d.Rs.300  e. Answer not known

@ Gouemevewws A Bmid B @meumd ep. 1200 &E& QFUISH  (PgdHdH  6TERTHTIT.
SieiGauemevenl A (B Sellwns 8 mHT Sefed, B ol Bib sellwmes 6 mHILseied GFuig
it sBlurgd  SeIBamevenwt A w@BpId B @meurmd C  ereiuaupLe  Benemibdl 3
BT &6MeD QFUIH (LPIQHSHIT 6laled 261 6IaLMhHEG HMLSGD Wmeldh CFHTend wirg?

a. ¢p. 150 b. ep. 100 C. @p. 450 d. ep. 300 e. ol QFfwaledenev

If 6 men or 8 women can finish a work in 12 days. In how many days 9 men and 12
women will finish the work?

a. 4 days b. 3 days c. 6 days d. 5 days e. Answer not known

6 olewidel (o) 8 Ouewidel b GCouemevenws 12 HIL&6M60 (WPQLILITTSET  6ledled 9
LEWTHEHD 12 GLIewTHEHD SHIeIGamevenI 6THHMT BT H6Me0 (LPIQLILITTSHENT?

a. 4 BIL el b. 3 B el C. 6 BT &6l

d. 5 priser e. alenL  Gafweaisvenso
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57.

58.

59.

60.

61.

62.

A solid sphere of radius x cm is melted and cast into a sphere of a solid cone of same
radius. The height of the cone is

a. 3x cm b. x cm c.4x cm d. 2x cm e. Answer not known

X QF.18 ouFeten @ Hewiod Camend I8% SLI(WeTeN @ FnlbLTS IBBLILIGEBS 6660
FalbLIGT 2_WIyID.

a.3x Gz.155 b.x Qz.15 4x0s18 d.2x0Qs.18 e el Gxflwalsdoenso

Find the volume (in cm3) of the greatest sphere that can be cut from a cylindrical log of
wood of radius 1ecm and height 5 cm.

a. %n b. %ﬁ c.br d. 23—07z e. Answer not known

1 G516 Sy 5 6515 o wgwd OCarewiL e @ wF o (hHwenuled(hhad DHBULFSH
saolene] Gamewi Gamend Oeully eIhSLILGIDBSHI 6Talled DiHeT ST SieMe] (H.0FL560)
BTGB,

a. Eﬂ' b. —=x c.57 d. ?ﬂ' e. alewL  Ogfwalsbensv

One side of a right-angled triangle is twice the other, and the hypotenuse is 10 cm. The
area of the triangle is

1
a. 20 cm? b. 33§Cm2 c. 40 cm? d. 50 cm? e. Answer not known
m OCsmBsremt (WECHTEMHHO @ LSHD LOBBHST  SHOLBISBE FWD  OBHBID
sTeshHar oene] 10 GF.16 eefled DID(PHCHTMISHH6 LIFLILIET6,

a.20 6.8 b. 33% QF.15 c.40 Gg.18> d.50 Q5.5 e. el OsMNuwelsdemen

The difference between compound and simple interest on a certain sum of money for 2
years at 2% p.ais<. 1 the sum of money is

a. Rs. 2,000 b. Rs. 1,500 c. Rs. 3,000

d. Rs. 2,500 e. Answer not known

2%  opewih el ipuied 2  SUEIHBEHSG QT  DFNEGHD HMLEGD  Fnl Bl 19shEGID
Falaul 19dbGHD BenL CuiujeTen alSHWTFID h. 1 elaled DIFL SUDBHI ___ DGSLD.

a. . 2,000 b. . 1,500 c. p. 3,000

d. em. 2,500 e. alenL  Gafuwealsvemev

Find the principal, if the amount compounded annually for two years at the rate of 10%
per annum is Rs. 6,050

a. Rs. 3,025 b. Rs. 3,500 c. Rs. 4,000

d. Rs. 5,000 e. Answer not known

QT SIFeTIH, 2 eBHE6N6, pNiBHG 10% gl Gaul 9aisd FmBHe0 65.6,050 SiE BB
GTeN60 DIFMEVDH  HITCUID.

a. . 3,025 b. em. 3,500 ® . 5. 4,000

C. @h. 5,000 e. alemL Gz fwailsvenev

The difference between simple interest and compound interest on Rs. 1,500 for one year
at 10% per annum reckoned half yearly is
a.Rs.3.50 b.Rs.325 ¢ Rs.375 d.Rs.3.80 e. Answer not known
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63.

64.

65.

66.

67.

68.

69.

APPE> L0
STUDY CENTRE
CHENNAI

. 1,500 && 10% uewi® aul iguied, SImIWITemiheB@E @@ (IPB GUL 19  HERISALLILIL L T60
QT WIBHHG HMLEGD Gl B QUL IQSHGSGLD, Helaul l9bGHld LB 2 eten alHHUTFHNHH
SHITCI15.

a.e;m. 3.50  b.em. 325 ¢ 3.75 d.ep. 3.80 e alow Gxpfwaisdemed

Anita took a loan of Rs. 9,000 from a money lender, who charged interest at the rate of
15% per annum. After 3 years, Anita paid him Rs. 12,500 and a wrist watch to clear the
debt. What is the price of the watch?

a. Rs. 600 b.Rs.550  c. Rs. 500 d.Rs. 450  e. Answer not known

OINBT h. 9,000-3 e l9dh HLSSMALID, ewi® o gaisd 15% && SLemsl QUBBTET.
3 oemihsel  HSHH  H. 12,500 BBID QH MBBRITIHMHE  BTHHSH  DIHHL M6
DML SHFHTOT 6laTeD, DbFH MBBIQBMTHIHT allenev 6Teineo?

a. ap. 600 b. ep. 550  c. ep. 500 d. ep. 450 e.alewL OQFHfwaledenev

A and B can do a piece of work in 12 days and 20 days respectively. They started to
work together and B left after some days of work and A finished the remaining work in
4 days. After how many days from the start did B leave?

a.8 b.7 c.6 d.5 e. Answer not known

A wppib B e @8uwint @b Geuemevenwt (pempGuwr 12 oBmitd 20 BIL&6M60 (WIQLILT. ieuTHe6i
Ameumd @aprs Caibal Coumevenwtd OFHTLmISeT. Fev BT seT Gouemev OFu1s LIBE B
SpereuT Gy alGEBIT. WeHpsTen GCouemevenwt A sieieuT 4 BT G660 (WQHBAMITT slailen
OHTLRIA WS (HHSH cTdhHemer BT HehdE LG B Goumevenw: aill B OFeaipmiT?

a. 8 b.7 c.6 d.5 e. aleowL  Oafwalsbensv
If x : y = 2:3 find the value of (3x + 2y) : (2x + 5y)

a.2:3 b.19:12 c.3:2 d.12:19 e. Answer not known
x:y=2:3eealed (3x+2y): (2x +5y) e A HT6wISH.

a.2:3 b.19:12 c.3:2 d.12:19 e. alenL  Gafuwalsvemev

Find the LCM of the given polynomials 5x2 - 10x, x2 - 4, (x - 2)?2

a. 5x (x2 - 2x) (x - 2)? b. 5x(x2 + 2x)(x - 2)? c. 5(x2 + 2x)(x - 2)2

d. 5(x? - 2x)(x - 2)? e. Answer not known

OQamBHslLl L Leoapitis Camemeuseier B.0uT.o. — gg sremis Sx2 - 10x, x2 - 4, (x - 2)2
a.5x (x2 - 2x) (x - 2)2 b. 5x(x2 + 2x)(x - 2)2 c. 5(x2 + 2x)(x - 2)2

d. 5(x2 - 2x)(x - 2)2 e. aflenL  Ozfwalsvensv

Three numbers are in the ratio 2 : 3 : 5 and their L.C.M is 900, then their HCF is equal to

a. 30 b. 60 c. 90 d. 150 e. Answer not known
(el eTeuideT 2 : 3 : 5 el aldlHSHHe0 SemwpHHieTengl, DiFHer ..o 900 elefev
Seuppler 1B.0um.eu wmg?

a. 30 b. 60 c. 90 d. 150 e. alewL Oz fwalsbensv
GCD of x3 - 27, (x - 3)2, x2- 9 is

a.x-3 b.x+3 c.x2+3x+9

d. None of these e. Answer not known

x3-27,(x-3)2 x2-9 -seflen BLIGLH GuTg augHd (GCD) G LD.
a.x-3 b.x+3 c.x2+3x+9

d. @meausaied eigiabd Be0en6v e. alewL  Gxfuwailsdenso

HCEF of 25 ab3 ¢, 100 a2bc, 125 abc is
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70.

71.

72.

73.

74.

75.

76.

a. 25 abc b. 53 abc c. 25 a2bc d. 25 ab?c e. Answer not known
25 ab3 ¢, 100 a2bc, 125 abec -en1 18.0um.s5m. G ID.
a. 25 abc b. 53 abc c. 25 a?bc d. 25 ab?c e. alenL  GaMuwalsvemen

During Aadi sale the price of shirt decreases from Rs. 90 to Rs.50. What is the
percentage of decrease?

a. 40% b. 44%% c.50% d. 44% e. Answer not known

SHHeneny elBumeuiear Gurgk e@m FLedL alewev  H.90 @elmbA  H.50 HHH
GOBHHH elefled GHemmaler FHaimlb

a. 40% b. 44%% c.50% d. 44% e. alenL  Gafweaisvensv

What percent of 25 kg is 3.5 kg?

a.41% b. 14% c. 140% d. 5% e. Answer not known
25 Fldl-60 3.5 HF ahHman FHAIHLD
a.41% b. 14% c. 140% d. 5% e. allewL  Ozfwalsvenev

Ram bought 36 mangoes, 5 mangoes were rotten. What is the percentage of the

mangoes that were rotten?

a. 31.88% b. 13.88% ¢. 13.89% d.13.7% e. Answer not known

gmb  euTmslw 36  MbUPHIGeNed 5 WmbUpESeT  SwpdlellLer  sefled, SiLRSW
LomMbLpEISeNe FHAHHMBH BHT6wIH.

a. 31.88% b. 13.88% ¢. 13.89% d.13.7% e. alewL  Gxfweailsdenso

Gray is the unit of

a. Range of a-particles b. Radiation dosage c. Number of disintegrations
d. Half life of a substance e. Answer not known

SIS HemiLauBmlen, “HCr” LG IHT HIeVE?

a. a-FHFHe1HeNar aiFsH b. adreiFflar Sienay C. Flenge serlein elemrenildbma
d. @m Gurmelar Sy U6l e. allewL  Gaflwalsvenso

The number of chromosomes found in “Turner syndrome’ is

a. 44 b. 45 c.46 d. 47 e. Answer not known
‘Liten Haot_Grmifled’ amewiliLiGd &Crm@on@amibserilei  elemTenildhemas
a. 44 b. 45 c.46 d. 47 e. alenL  Gafuwalsvemev

Which one of the following is the most effective method to develop conceptual learning
in student?

a. Understood on their own b. Memorize the concept

c. Reasoning by comparison d. Punishment until acquiring the concept
e. Answer not known

&0 CaETESaLILULLFe 6% SHSHHS SBBL (ampenw GububsHs 2 Heydnai?

a. swiors Lfibg Gameten euedluimissHe0

b. a®mama e b GFuiwu CFTeLEISH6e0

C. UIL(B STTImISMENS Fn3lgHe0

d. spEMS SMLUWID IEDT HEIL DS GULDHIEH60

e. alenL Gaflweailedenso

Genetic drift is also called as
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77.

78.

79.

a. Sewall Wright effect
d. Crossing over

b. Founder principle
e. Answer not known

c. Gene flow

WyUem GUWITEFS GTIRILD  DIMSHHLILIBGSBSI.

a. Fauted eyl alenera] b.
d. ®5BIH0sHT WIBHBLD

C.ueyewtLiTerd Gamlum®
e. allewL.  Gzfluialsdenso

C. LOJUIEmI gL L LD

Which is an example of sex linked inheritance in man?

a. Tuberculosis
d. Haemophilia

b. Typhoid
e. Answer not known

c. Nausea

BeuBpsled e1g umelleeuly Ly GUBSET o HTFeILom@Ld?

a. sre@prul
d. anfGuomleSuim

Match the following:

Case Law

A. Aruna Roy Vs Union of India
B. Government of India Vs George

C. M.C. Metha Vs Union of India

D. AIIMS Student Union Vs AIIMS
A B C D

a. 1 2 3 4
b. 4 2 3 1
C. 3 1 2 4
d. 3 4 1 2

e. Answer not known
SLPHEWILUBenB  CILIT(HSHHIH:

FLL aUpSHG

A. oot gt Vs @bawl @espiiuib
B. @bsw ops Vs ganired el

C. M.C. Gwgs1 Vs @bdHul eepdiuib

D. AIIMS wremeut gmisd Vs AIIIMS

A B C D

a 1 2 3 4
b. 4 2 3 1
C. 3 1 2 4
d 3 4 1 2
e. alenL Gaflweailedenso

b. ewLumuI®
e. allewL  Ggflwalsvenso

c. mprdlwm

Subject

1. Compulsory teaching of Environmental
Education

2. Striking down the Institutional Reservation
Philip

3. The validity of National Curriculum for
school was challenged

4. Case of compulsory retirement from service

Qum(mel

1. aBBIFGLe0 Heval &L LTWDTS Spslalliy

2. HpeueT @l 35I1H5BH Bevenev 66 il
3. L6161l & (6Th &b BIT 6o Gxpdlw &H606) LJ6VLD
CFe0VHHHHIT GIMID AULPDHE)

4. uewilufled BHHH SLLTU QUIeY GUDSHES

The fertilizer which contain highest nitrogen content is

a. Ammonium sulphate
d. Sodium nitrate

a. 9IbGreiwid Fev. .GuL_
C. wyfwm
e. alenL Gaflwealedenso

b. Calcium ammonium nitrate
e. Answer not known
DB DI6N6Y MBL TN 2 6iT6NM_Sh&Hul 2 [Jib

c. Urea

LS LD.
b. &mevdlund oubGuwreiluid enpbL Gy
d. Ggmguib enpL Gyl
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80. In winter, why do birds sit with their wings spread out?

a. To enclose a lot of air b. to receive heat energy from sun

c. To make balance in winter d. None of the above

e. Answer not known

GeliTaTemisaie0, g6l LUBmassT Haigh Fpens alfisss Csmeamh DOTHBSHI?

a. SIFs STHBOB 2 _6IT6NL_ S b. @&fAweledmba Qeuli SyBBemev GLB
C. GofMiTadTendHmas FloBleney OFuIL d. Beaubpfled gBILOeLMEV

e. alenL Gafweailsdenso

81.  Which of the following is wrongly paired?

1. National Dairy Development Board - NDDB

2. National Food Development Board - NFDB

3. Indian Council of Art Research - ICAR

4. Tamil Nadu Electricity Board - TNEB

a. 1 and 3 are correct b.1 and 4 are correct c. 2 and 4 are correct
d. 3 and 4 are correct e. Answer not known

Leiteu(meuaiouBmled 61g SHeummd EenewrdbdLILIL (heiTeng?

1. Gzdlw umedeur Gowur® eurfluid - NDDB

2. Cxpdflw o _ewiey Gowur® eurfluid - NFDB

3. @pFHu Bmev QITUIFS FewLl - ICAR

4. s0pBTH Weraty eurfluid - TNEB

a. 1 wmmb 3 gilwmeiene b. 1 wBp 4 sfiwmearenel
C. 2 1oBmb 4 ghwmeTene d. 3 wpm 4 Fwmearenel

. allewL G flwalsvensd

82.  Arrange the following Presidents of India in chronological order.

1. K.R. Narayanan

2. Dr. A.P.J. Abdul Kalam

3. Dr. Shankar Dayal Sharma

4. R.Venkataraman

a.2,4,1,3 b.3,2.1,4 c.4,3,1,2
d.1,3,4,2 e. Answer not known

&Mev SlgliienLuied euflenaiILBSHSHIH60.
eiteupld MemHugsamen SlalTdeier LSHalbsme0 SlgliLienl uled eauflenaliLBsHais.

1. K.R. pmymuwiesntesr

2. Dr. AP.J. o1ige0 se0mbd

3. Dr. smsitgwmen &fom

4. R. Qeumisl gmioest

a.2,4,1,3 b.3,2.1,4 c.4,31,2
d.1,3,4,2 e. alenL  GaMuwailsvemev

83.  Identify the personality:

1

2
a
C
e

. She has been appointed as the “first woman Director General of Council of Scientific
and Industrial Research (CSIR)

. She is an Electrochemical Scientist

. Sellappan Nirmala b. Nallathamby Kalaiselvi

. T.S. Kanaka d. Radha Balakrishnan

. Answer not known

WIMTT  6T60T  S|GML_UIT6ITLD  &HT6001H:
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84.

85.

86.

87.

88.
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1. ®eau, 9pflalwed wBBID OFTheodiens ITUIEFS SHajardlede (PHeL LT  HEDEVEMLD
BUISHG6TT LEUMIT.

2. BT @ eeudsl Grm Gsfldsed ailehehTe

a. QFevevLILIGET [HITLDELT b. BeveusIDL] HemevFLFva C. 19.61610. (&HNSBT

d. ®yrsm uTeLA (HajemTest e. allewL  Gaflwalsvenso

Which one of the following is launched to promote inter-ministerial, inter-sectoral
convergence to create gender equitable and child centered legislation, policies and

programmes?
a. Mission Vatsalya b. Mission Shakti c. Mission Sambal
d. Mission Samarthya e. Answer not known

LeTau(heuadTouBmIel  61&H1 L0  SIMIDFFHMIGMETUD, L0  SHIOBHENNULD  66iTnslenemihdh
CawebUT L. o (HouTdd UTedal FIOSHIAUSHMBUID, GLHDHHEMET  MIOWIDTHS  OlBTerIL
FLLBISMEMULD OCBTeTenESMENUILD FHLLMIGHmenD IGUIUSBSTS Bimleulil’ L gi?

a. UTSHFOWT BuIsHLD b. #5d Buibsid C. FlbLeD BUIHHLD

d. gmorsbHu Buidsid e. alewL  OgMwalsdensv

The main aims of Deendayal Antyodaya Yojana National Rural Livelihoods Mission are
(i) To reduce poverty by enabling poor households
(i) To develop profitable self-employment and skilled wage employment

opportunities
(iii) To improve income and quality of life
a. (i) and (ii) only b. (ii) and (iii) only c. (iif) and (i) only
d. (i), (ii) and (iii) e. Answer not known

sarpwimet oewi CGurew  Gurmerm — Gxdw  SHgmouyp  eumpeursmyLl  Lewflulles  (psalw
CrTeHamisHen :

(i) AMIDIDMUIG GHMBHBHI JemIpd GBIDLIRIGMETF CFWOLIBHHIMIBBES

(i) ssTwwTEr SLOSTHE WBBID HBEOWTET Fned Gouensd GUTUWILILIGET 2 (HeuTd

(iii)  eugpOTEND WBBID UTSMBSH SHIHMs CLLBGHSH

a. (i) wmmb (if) b. (ii) wpmid (iii) c. (iii) ppid (i)

d. (i), (ii) b (iii) e. aflewL  Ozfwalsdensv

EOS-04 Earth Observation Satellite was injected by India’s rocket

a. PSLV - C53 b. PSLV - C52 c. PSLV - C51

d. PSLV - C50 e. Answer not known

‘o’ sewrareniliy QFwmenssBsmer @bauwimeai e gTHOsBL. cpeold OFISSHUILL L .
a. PSLV - C53 b. PSLV - C52 c. PSLV - C51

d. PSLV - C50 e. alenL  GaMuwailsvemev

A recently discovered fossil “Ecophylica Priscastellate” from Myanmar was a

a. Butterfly b. Fern c. Flower

d. Rhinoceros e. Answer not known

SITENLOUT60 wimestiofled et mluIIu L OBmeveuILTIT “@Cuitentiedld e
Llflerbamerd@L 60@eul L T 6T6ITLIZHI 6(H

a. Ul Lmby & b. Quyeni C. LDGUIT

C. HTEWILMO(HSBLD e. allewL.  Gzfluialsdenso

In soil, the biodegradation process occurs quickest when the content of oxygen in soil’s
air is

a. higher than 0.2 mg Oy/1 b. higher than 2 mg O2/1
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89.

90.

91.

92.

c. higher than 0.2 mg/mol d. higher than 2 mg/mol

e. Answer not known

LoewTenoflen,  LoeuoTemiled  HTHNSIeL  Spdberiiegeliealt 2 6oL &dLd BmeG Gurml G
CFweL(pe»B aMlenTaUTS HBLDBHMBSI.

a. 0.2 mg Oy/1 oifswns b. 2mg O2/1 siFswns

c. 0.2 mg/mol siF=swrs d. 2mg/mol siF=swrs

e. alenL Gafweailsdenso

Match List-I to List-II and answer using the codes given

List-I List-1I
A. Recreational Town 1. Panaji
B. Administrative Town 2. New Delhi
C. Industrial Town 3. Jameshedpur
D. Religious Town 4. Madurai
A B C D
a. 2 1 3 4
b. 1 2 3 4
C. 4 3 2 1
d. 2 4 3 1

e. Answer not known
uligwed I &g uliguwied Il o et QUT(HGSIS.

UL 1guieo - I U 1guie - I1
A. QumupasBurd@ BHBILD 1. uenmeg)
B. Miteuns mayd 2. sl GLeveV
C. Gzmbled BSILD 3. QmbFLLYT
D. swow psyb 4. DGlm]
A B C D
a. 2 1 3 4
b. 1 2 3 4
C. 4 3 2 1
d. 2 4 3 1
e. allewL  Ggflwaisvenso
Chhattisgarh and the Bastar region are all the major ____ fields of India.
a. Iron ore b. Manganese ore c. Copper ore
d. Bauxite ore e. Answer not known
OhHWTaNed FHHVHT LOBMILD HIHET LSBT LGS ® 616N (PSS LIGURIBET QLG LD.
a. @By SHTH b. wrhisais S c. Qely g
d. ursemal g e. alenL  Gafweaisvenso

Narmada Rift valley River in India forms

a. Delta b. Estuaries c. Waterfalls
d. Cascades e. Answer not known

@hHwmaled Lleme] LeTenSHSTHESTEN HTDST B ® (HeUTHGLD.

a. aP(psd b. waszeuryid C. praipsd]

d. GaTLTUG SiHelsen e. allenL  Gafweaisvenso

The longest border of India is with
a. Bangladesh b. China c. Pakistan
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93.

94.

95.

9.

d. Nepal e. Answer not known

BhHWTaNeT [HNLOTET 61606060 OBT6WIL  [HT(H

a. UkIGeMTBHaG b. e C. UTSHBerOSHHTen
d. Gmriumenid e. alenL  GaMuwialsvemnev

What was the original name of Alauddin Khilji?

a. Jamaluddin b. Jainulabdin c. Jalaluddin

d. Ali Gurshap e. Answer not known

ST Her BHlevgduiler IFeL GLIWIT 6TedTear?

a. LOTEVIS 6 b. vmenied &yliges C. £260MEVI 60

d. 9169 GiTagl e. alenL  GaMuwalevemnev

Assertion [A]: The temporary eclipse of the Rajputs facilitated Babur to establish
his rule in India.

Reason [R]: The Battle of Khanua resulted in the defeat of Rajput confederacy

a. [A]is true, but [R] is false

b. Both [A] and [R] are true, and [R] is the correct explanation of [A]
c. [A]is false, but [R] is true

d. Both [A] and [R] are true, but [R] is not the correct explanation of [A]
e. Answer not known

apup [Al: TTegLS S TEele sBsTels aipsFd uTuT @hFHwmeied sHerg D FHevw
BemeUBTL L 2 SHalwigl.

smyewid [R]: saieumll GunT greLsSSTTaeier g Lenwliler CxhTevaldg STTewIoTS
SIDLOHHSHI.

a. [A] &M, eyemmed [R] seum

b. [A] wpmw [R] epdw Bewibo il wBmID [R] ereiiug [A] eliBg gflwmer alendaom@d
c. [A] meuml, spevmed [R] gl

d. [A] wBpb [R] ey @yemiGido gf, eyemed [R] aiasiugl [A] eii@ aflwner afendasineoen
e. alewL Gaflwealsvenso

Assertion [A]: Akbar approached his subjects with liberal ideas.
Reason [R]: Akbar’s tutor Abdul Lateef taught the principle of Sulh-I-Kul to
Akbar

a. [A]is true, but [R] is false

b. Both [A] and [R] are true, and [R] is the correct explanation of [A]

c. [A]is false, but [R] is true

d. Both [A] and [R] are true, but [R] is not the correct explanation of [A]

e. Answer not known

ampm [A]: DIGLT H6I BT LDSHHN6N HTITMeUTHS OCBHTETmHUIL 65T IGmI 6.

amyewid [R]: SIBLUTSH  FNWT  DIIFHED WHPH  DBLUBHDBEG D0H-B-GH60 61613

CameTendemuill GUTHSHHTT.

a. [A] &M, ayemmed [R] seumi

b. [A] wBpd [R] eyl Sewibd &M wopd ez [R] eaug [A] — olBes afwrer
a6 BLOMGLD.

c. [A] soum, eyemmev [R] &

d. [A] oBmbd [R] euddwi @yemiid, sypemed [R] etesiugl [A] - elBad aflwmer aflendaiosoen

e. alowL Gafwalsdenso

Which of these legislation banned Sati and made it Illegal?
a. Bengal Regulation XXI of 1975 b. Act of 1870
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98.

99.

100.
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c. Sharda Act 1930 d. Regulation Act XVII of December 1829
e. Answer not known

abHF FLLID FFHowd HoL FUISCHTH DmHF FLLaNCITHIOTEIH 616dh Fnpluig)?

a. QURIGTEN QURIGUBSHSBID FULLD ey — 1975

b. 1870 soub WIGF FULID

C. omysT UL 1930

d. 1829 eub e Fibufled Qeuefuirnn’ L @uemiguGSSHID gL XVII

e. alenL Gafweailsdenso

“ Amuktamalyada” the work of Krishnadevaraya deals with the life of

a. Perialvar b. Devaraya II c. Saluva Narashima
d. Krishnadevaraya e. Answer not known

Smagent CHeugmuwifledr ©ILPSHHOTEOWSHT WTHMLW auTpHmBenul afleufle s ?

a. Quiflwimpeurnit b. @yewiLmb Ggeuymuiit C. gm@mey [HydlbLoest
d. Hmayem@meuymuir e. alewL Gxpfwalsdensy

What was the name given to the Rural officials during the Mauryan administration?

a. Astonomai b. Agronomoi c. Amatyas

d. Nagarikas e. Answer not known

QenmflwiT o' & MiteursHdHer Smolis ISHSTHS6T sleleuTBn DIENLPSHBLILIL L 6urT?
a. 903G rGearmGLomul b. £168ymGamGiomul C. SIDSHWITEHEIT

d. pafsisel e. aleowL  Oafwalsiensv

Assertion [A]: The Gandhara School of Art bears the mark of Hellenistic.
Reason [R]: Hinayana form was influenced by that art

a. Both [A] and [R] are true and [R] is the correct explanation of [A].

b. Both [A] and [R] are true and [R] is not correct explanation of [A].

c¢. [A]is true, but [R] is false

d. [A]is false, but [R] is true

e. Answer not known

FaBml 2Juerv: STHBHTIT  HeweoLILTen Gamelleledipd DML WTENHmHD 6B T6w (BTN,
STJE0ILD QFi610: Bdsemevulen GFevauTdH@ anferwimer Liflaled euenThH!.
. [A] wBmnbd [R] sflwreng [R] eresug [A] ullesr gflwmesr eflenéabib.

b. [A] wsuid [R] sflwrergy [R] eieiugy [A] el sflwrer aflendaiosien

c. [A]&f, eyemmed [R] afluisdev

d. [A] seum, syemeo [R] &

e. aloL Gaflwealedenso

oY)

In connection with Indus valley civilization which of the following is incorrect?
Material Site

(i) Shell - Nageshwar

(ii) Lapis Lazuli - Shortughai

(iii) Carnelian - Oman

iv) Steatite - Rajasthan

a. (i) only b. (i) and (ii) c. (iii) only
d. (i), (ii) and (iii) only e. Answer not known

fbgl sweuel Braflsd OFHTLIUTS 615 Heummer GLITHIHHLD
Guim(meiT B&BJLD

(i) FHIG - BTCBAZGUT

(i) eweu@fuwpn - AQTTHENS

(iii) srrefelwer - PLDGIT
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iv)  edelenLll - TTEQ6T0SHIT6T
a. (i) w @ b. (i) wspw (ii) c. (iii) L Bw
d. (i), (ii) ommpub (iii) L GO e. alewL QFfwaieoensv
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